
7 121 6 3 58

4

13

11

109

2

ITEM PART NO. DESCRIPTION QTY.
1 301821-30 BRACE BLOCK SINGLE MAGNETO 1
2 301821-35 SUPPORT CLAMP FOR MSD MAGNETO SINGLE OR RCD DUAL DRIVE 1
3 301821-39 BRACE LINK 5.375 LONG 1
4 352505-50 WASHER HEAT TREATED 0.38 I.D. 0.125 THICK 0.90 DIA 2
5 355237-10 3/8-24 HEX NUT PLAIN JAM 1
6 355237-12 3/8-24 HEX NUT PLAIN JAM LEFT HAND THREAD 1
7 355425-60 1/4-28 NUT HEX FLANGED LOCK 1
8 355437-10 3/8-24 NUT HEX FLANGED LOCK 2
9 356225-40 1/4-28 X 2.50 12PT 1
10 356237-24 3/8-24 X 1.50 12 PT 1
11 356237-32 3/8-24 X 2.0 12PT 1
12 359838-12 0.375 HEIM END LH 1
13 359838-52 0.375 HEIM END RH 1

SHEET 1 OF 1PART.  NO. 301821-0035

 SINGLE MAGNETO SUPPORT 5.375 LONG
TEL: 530-292-3133 - FAX: 530-292-3738

ENGINEERING INCORPORATED

C


	Sheet1
	Drawing View12
	Drawing View13


